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Chapter 5: Inventories and Cost of Sales

Recall from chapter 4 that inventory is a current asset on the balance sheet until it is sold, then it becomes an expense (cost of goods sold), to match the cost of the inventory sold with the sales revenue.

Chapter 5 explains the methods businesses use to assign costs to ending inventory and cost of goods sold when the cost per unit changes during a period.

Inventory Basics

Determining Inventory Items

Goods in Transit


Goods in transit should be included in the inventory of the company that has legal title to the goods.  Legal title is determined by the terms of the sale.



When the terms are FOB (free on board) shipping point, ownership of the goods passes to the buyer when the public carrier accepts the goods from the seller.


When the terms are FOB destination, ownership of the 
goods 
remains with the seller until the goods reach the 
buyer.

Goods on Consignment


Goods shipped by the owner, called the consignor, to another party, the consignee. 


A consignee sells goods for the owner.  The consignor continues to own the consigned goods and reports them in its inventory.

Goods Damaged or Obsolete 


Damaged and obsolete (and deteriorated) goods are not counted in inventory if they cannot be sold.


If these goods can be sold at a reduced price, they are included in inventory at their net realizable value, the sales price minus the cost of making the sale.

Determining Inventory Costs

1.
The cost of an inventory item includes its invoice cost minus any discount, plus any added or incidental costs (such as import duties, freight, storage, and insurance).

2.
The matching principle states that inventory costs should be recorded against revenue in the period when inventory is sold. Some companies use the materiality constraint (cost-to-benefit constraint) to avoid assigning incidental costs to inventory.

Internal Controls and Taking a Physical Count

1.
The Inventory account under a perpetual system is updated for each purchase and sale, but events (such as theft, loss, damage, i.e. shrinkage, and errors) can cause the account balance to be different from the actual inventory on hand.

2.
Nearly all companies take a physical count of inventory at least once a year; the physical count is used to adjust the Inventory account balance to the actual inventory on hand.

· Those responsible for inventory do not count inventory.

Assigning costs to inventory

The four methods of assigning costs are:

1.
First-in, first-out (FIFO)—as sales occur, assigns costs of the earliest units acquired to cost of goods sold, leaving costs of most recent purchases in inventory.

2.
Last-in, first-out (LIFO)—as sales occur, assigns costs of the most recent purchase to cost of goods sold, leaving costs of earliest purchases in inventory.

3.
Weighted average—use the weighted average cost per unit for inventory and COGS.

4.
Specific identification—uses actual costs, same as actual physical flow (what really happened).

See chart on page 229 for usage.

Effect of costing methods on the Financial Statements:


When costs are rising:

1.
FIFO results in the highest gross profit and the highest net income. Advantage: Inventory on the balance sheet most closely approximates current replacement cost.


(A balance sheet perspective.)

2.
LIFO results in the lowest gross profit and the lowest net income (and lowest income tax).  Advantage: Better matches current costs with revenues on the income statement.  (An income statement perspective.)

Note:  LIFO may only be used for tax purposes if it’s used for financial reporting.

3. Weighted average method costs fall between FIFO and LIFO. Advantage: Smoothes out price changes.

4.
Specific identification exactly matches costs and revenues.

Consistency principle requires use of same method year after year.  Why?

Different methods may be consistently applied to different categories of inventory.

The inventory costing method must be disclosed in financial statements or notes (full-disclosure principle). 

When the perpetual method is used, inventory is updated with each purchase and sale, and COGS is updated with each sale, using one of the 4 methods.

Sometimes it is necessary to estimate inventory.

· For interim financial statements.

· If inventory is destroyed in a fire or other disaster.

 
Gross Profit method – see next page.

 GROSS PROFIT METHOD

Step #1:


Sales

- 
Sales Discounts

-
Sales Returns and Allowances

=
Net Sales

Step #2:

Net Sales    x     (1 – Gross Profit Rate)     =    Cost of Goods Sold

Step #3:
   Beginning Inventory













+ Purchases

+ Transportation In

- Purchase Discounts





Net Purchases

- Purchase Returns and Allowances

= Cost of Goods Available for Sale

                 OR

Beginning Inventory 

+  
Net Purchases


= 
Cost of Goods Available for Sale

Step #4:

   Cost of Goods       –     Cost of Goods Sold     =   Cost of Ending Inventory

Available for Sale                                                       

Inventory Errors


Use the COGS formula to illustrate:



Beg. Inv.


+
Purch.




=
Cost of goods avail.


-
End. Inv.


=
COGS

	If:  Ending Inventory is:
	Understated
	
	Overstated

	COGS will be
	Overstated
	
	Understated

	Gross Profit (& Net Income) will be
	Understated
	
	Overstated


Since inventory is a permanent account, the ending balance one year becomes the beginning balance for the second year.

	If Beginning Inventory is:
	Understated
	
	Overstated

	COGS will be
	Understated
	
	Overstated 

	Gross Profit (& Net Income) will be
	Overstated
	
	Understated


Because of the Conservatism Principle, inventory is reported at the Lower of Cost or Market.

1.
Market normally means replacement cost.

2.
Loss of inventory value is recorded as an increase in the period’s cost of goods sold.

3. Lower of cost or market pricing is applied either:


a.
Each product in the inventory separately or 


b.
Major categories of products or

c.
The inventory as a whole.
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